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Tén:__ Ngaythdng: _ Diém:___
(-10)"V +(-10) = (=7 = (3) =
(-5 +4= 1071 = (-10) =
802 + (—4) = (—10)* +3 =
19+ (—4) = 1000 —9=
(-5~ (3)= (-5)"" +9=
(-2)’+10= H (3=
17 —10= 3 —(-3)=
(-10)° 7= (-10)° =9 =
9-(-7)= (37" -2=
(-3 V-1 = 52 _ 7=
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S6 hoc ctia s6 mil (SO mil &m)

Tén:
10V £ (=10 = (-2 — oL
(10 + (-10) = (=) = (-10)

(-5 +4= o

5 75

82 + (—4) = (—%5) = (—32—2)
17+ (—4) = (-3)

(5 - (3)=(-2)

(-2)° +10= 11

179 —10 = (-9)

(-10)" =7 = (-6)
9-(-7)=16

N N B A
B -1 (5= 1)

Ngay thang: Piém:
(=7)° —(-3) =52
101 1
100D — (- = = 10—
07" = (-10) = - = 10+

(—10)* +3 =103

89 9

D_g=(—2)= (-8~
10 9=( 10 (810)

4 4
5D 19=""—-g_
(=5) 5 = 83

49 1
A2 ()= L =3
(4 7= (3 =1 =3¢

32— (-3)=12

(—10)* =9 =91

- 7 1
(37 =2=(3)=(23)

174

- 24
S 7= (55)= (655
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